Use the playing cards as numbers for decimal code- black ones first.

A=1=A, 2=2=B, 3=3=C, 4=4=D, 5=5=E, 6=6=F, 7=7=G, 8=8=H, 9=9=I, 10=10=J, J=11=K, Q=12=L,
K=13=M, then the red ones second: A=14=N, 2=15=0, 3=16=P, 4=17=Q, 5=18=R, 6=19=S,
7=20=T, 8=21=U, 9=22=V, 10=23=W, J=24=X, Q=25=Y and K=26=Z.

The order in which the cards were dealtis J, A, 2,10, 10, 8,5,A,7,2,6, 2,Q, 4,5, K This
spells out the solution: KNOW WHEN TO FOLD ‘EM (This is line from a very famous song by
Kenny Rogers called “The Gambler:” You’ve got to...Know when to hold ‘em, know when to
fold ‘em, know when to walk away and know when to run...) The fact that the dealer has a
king in the hole gives him/her a “black jack” which is an automatic win for the dealer.
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The nonogram solution is shown below. Hopefully solvers will recognize the image
as that of a snake. The arrow hints that solvers should start reading top line
backwards and then “snake” back and forth to get: MAKE A DARK DOT ON EACH OF
THE FIRST TWO SHADED-IN VOWELS. WHEN YOU ROLL ATWO IN CRAPS, ITIS AN
AUTOMATIC LOSS, AND GAMBLERS CALLIT...

The two dark dots are drawn over the E and O shown in red below. They represent
the solution: SNAKE EYES which is used to designate a roll of two in dice.

Although it’s not necessary, the shaded in letters also contain a message: SS THE
ORDER OPHIDIA AND SUBORDER SERPENTES HAVE SINCE BIBLICAL TIMES BEEN
OBJECTS OF FEAR AND LOATHING. THEY STILL ARE IN DICE. (This order and
suborder are the taxonomical designations for snakes.) Solvers are not likely to see
this secondary message given that it starts SSTHEO... but GC could point it out to
them after the solve just for fun!
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Charlotte is so good at poker, it's scary. But how? As she enters the casino, the
security guard takes a break from his word search to do a hand search of her
bag — looking for who knows what. All they find is some index cards (with maps
of her favorite beaches), a few tattered bathing suits, a broken snorkel and some
loose ends from the last cruise Charlotte participated in.

Tonight, she’s playing Carlos, who thinks he stands a chance and goes all in. She

calls his bet. He proudly reveals his hand (three aces!) and smugly says “Read ‘em

and weep, mademoiselle™

Charlotte kmows what people call her behind her back, but she doesn’t care. She
gives Carlos a steely look. “I don't believve [ possess tear ducts,” she says, “but I
do possess a hand that’s got yours beat™

In fact, all five hands Charlotte played that night would have beaten three aces.
Can you find all five of her hands and reveal Charlotte’s true identity?

Rather than a word search, this is a “hand search” for five
poker hands that can beat three of a kind. These five are
circled at right. If we look at the ends of these hands (circled)
we see in order from upper left, A-clubs, 3-hearts, 4-hearts,
4-spades, A-spades, A-hearts, 3-spades, 4-hearts and a joker.
Indexing these suits by the card number (A counting as a 1)
gives: A-Clubs, 3-heArts, 4-heaRts, 4-spaDes, A-Spades, A-
Hearts, 3-spAdes, 4-heaRts and a joker = CARD SHARK.
(Note: The joker has no number, but his hat and collar are all
about threes!)
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Adrut plays the “one-armed bandit ™
sliding a nickel very methodically
into the slit. Pulling gradually down
on the lever until the reels start
spinning. Then watching the figures
appear as each reel stops.The first.

Hint lines
are given

Then the
second.
Then the

for this first

set of words

—just to get
you started

third. Waiting a while.
Then slowly repeating
the whole process over
again... And over
again... And over again...
Adrut knows a win is

any three of a kind: % % %
And he can count on one hand
—well, technically on one foot
— the number of times he has
actually hit a jackpot: three.

He feels like that fourth win is
right around the corner. But it's
not the winning jackpots that
keep him playing - just the
opposite Excitement is the
last thing Adrut wants.

He just enjoys playing. Very
mechanically. Very slowly.

Ower. And over. And owver._.
That’s what earned Adrut

his nickname.

Cut into

three strips, BAR
then tape

lIl.'tD loops =
with arrows

touching

. One-Armed Bandit
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The strips are cut out and made into loops and
positioned side by side (order not important).
They are then rotated enough to make a win —
three matching symbols — like the 7’s below. It is
what is on the back side — directly opposite the
matched triplet that we need to look at.

For the three
7’s, the
opposite
symbols are a
PINT (ala
Puzzled Pintl),
a PEACH, and a
VACUUM
cleaner. These
three words
when placed in

order of increasing length have 4, 5 an 6 letters
respectively. They fit into the grid at left in the same
cluster (second one down) as shown with letter
match-ups. All of the word triplets are consecutive in
length and will fill in one of the four clusters. Then,
reading the last letters of all twelve words gives the
solution: SLOTH MACHINE — an appropriate
nickname for a sloth who very mechanically plays
the slot machine
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The only two 2-digit numbers

The 4hee/

Wedding took place in 2011. ye ar hints to
break this up into the two numbers: 20 & 11
Difference =9 =1

Sema phore :/—(red) - M C-note is obsessed with royal weddings -
especially the one between William and
Kate thirteen years ago — what a memorable

year that was. Q

Damien is into math,

that can be expressed this  and just by coincidence
way are 52 and 2°= 25 & 32 ’;‘ju‘g‘;_‘m“‘e
Difference=7=G digit

Semaphore =7\ (yellow) =S

Mil

numbers can
be expressed
asx¥and y*.

O
6

itary time = 18:27

Ly il

Hallowe’en falls on Oct 31
Two days after Valentine’s Day

Alfred loves candy, and so his favorite would be Feb 16
days are Halloween and two days after Difference =15=0

Valentine’s day — when all the
Q chocolate hearts go on sale! Semaphore =7 (purple) =H
March forth = 3/4

Difference=1=A

Semaphore =—(orange) =R
ZONED anagrams - DOZEN = 12
EGGO EGOS > GOOSEEGG =0
Difference =12 =1L
Semaphore =\ (green) =S

Gustav collects riddles. His
favorite riddle: What date is
a homophone for a military
command that means
“Tread ahead?”

Howard loves anagrams
of words like ZONED
and of phrases like

@EGGO EGOS.
@ Frankie loves that

his granddaughter spent
every day of her 5-week

Every day of five weeks = 35
Blackjack = 21

Difference =9 =1 o O summer break atgambling ~ Difference =14 =N
Semaphore = \| (blue) = T strict schedue. et s Jemaphore= (" (gray) =E
L mf;;ﬁgi:;’u';f;‘h‘;‘f £ When all the first letters (from
2 being half-way between the — ’ the differences) are placed in
N smgemmne Qe (GRIGINAL  aphabetica oder by he
7613 nthe6and 7. ;‘;‘;“;e;igf;ag;?a’;éj;gf:;;he HhMS TElRls person’s name (Alfred, Bubba...),
it spells ORIGINAL and the second

across the extra day.

Days in February =28 X=10

Difference =18 =R

Semaphore = / (white) = A

letters (from semaphore) spell
out HAMSTERS. ORIGINAL
HAMSTERS is a variation on the
expression “original gangsters.”



Guararnteed

L

Always best to lay the groundwork before you start trying to make connections. 5till, the question remains:
When you're all through betting and gambling and placing your wagers, how can you be guaranteed to walk

out of a casino with a small fortune in your possession?

Set of trades

known toJack (3) \

-lope, -ater or -nna
preceder (4)
ANTE

Half of quadruple (6)
DOUBLE

Elevated, or under the
influence (4)
HIGH

A single, double,

triple or homerun (3)
HIT

Dog-, tree- or out-

follower (5)
HOUSE

Jill's accident-prone
companion (4)
Nervous asa -
tailed cat in a room full
of rocking chairs (4
qu LON G( )
Meaning of head
moving side to side (2)
NO

Studly fireplace tool (5) — |
POKER
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 —eSkyward (2)
UP

... anhame...Icall

1f... (2
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What Hamilton refused

to throw away (4
SHOT ¥®

Prefix meaning “not” (2)
IN
It’s used for making

stew (or brownies) (3)
POT
Cut up into small
cubes (4)
DICE
Robert’s, ground and

slide followers (5)

RULES

Earthward (4)
DOWN

Flat surface of a

polyhedron (4)
FACE

Type of derby on

skates (6
ROLL R)

First, enter all answers into the interlocking chains. (KNOW WHEN TO FOLD ‘EM is filled in as a starter.) The only way to do
that is shown above. Then draw lines to pair up the words into familiar two-word gambling expressions: All IN, ANTE UP,

DOUBLE DOWN, HIGH ROLLER, HIT ME, HOUSE RULES, JACK-POT, LONG SHOT, NO DICE, POKER FACE. These lines will cross off

many of the letters. What remains read left to right, top to bottom is the solution: ENTER WITH A LARGE ONE
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